Puzzle No. 274

by Paul Green (pegreen@earthlink.net)

The solution to this puzzle is a quoted text (diagram at right) that
should interest Communications Society members. If you can guess a
few of the clue words (below), you are on your way to solving the puz-
zle. Copy each letter into the correct numbered square in the diagram.
Then start guessing words in the text, and with the aid of the letters in
the upper right hand corner of each square, see which clue word the
letter of the solution appears in. If there is no black square at the end
ofaline, the word wraps to the next line. Theinitial letters of the clue words,
when read from top to bottom, spell the author and title of the text's
sources. This month’s answer will appear in the January issue.

Clues Words
A It tells the power company your

electricity usage (3 wds.,

2 hyph. -
yeh.) 30 84 181 2
B Rapidly proliferating bandwidth _— __ __ __ __ __ __ ____
usage pig (3 wds.) 40 47 140 113 92 200 1 212 147
150 11 162 86 177 99 170 120
126 71 179 188 56 15 21
C Pretentious display
103 149 202 36 83 163 58 169 64
183 7
D It's sometimes sticky
184 176 81 43 115 50

E Bar of cast metal

12 139 33 217 178
F AN
54 153 174 79 197 30 85 205 190
42 108 141 104 158 9 9
G American paper money (sl.)  __ __ __
1 60 27 215 154 157 76
H First telephone message (4 wds.) -
29 207 180 26 137 100 186 166 29
146 168 151 19 193 88 44 39
14 82 65
| Supernaturally derived [
128 206 8 164 80 59
J Negative acknowledgment -
159 131 13 175
K Overturning -
102 70 101 171 63 5 109 195
L Pushing forcefuly
73 214 52 93 138 25 6
M Ratio of two probabilities -
2 118 125 28
N Basis of MPLS (2 wds.)
57 105 172 23 155 45 134 10 144
132 18 111 77 119
O Tale-bearer
165 173 22 49 204 194 38 62 87
6
P Squarewave analogof
sinewave-based Fourier 145 94 107 167 208 185 3 156 114
transform (2 wds.) o _ —— __ __
130 198 74 98 16 142 61 35
Q Kind of current; Nelson the singer — —
17 187 201 133
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R Xerography doesn’t use it
S Anaesthetized

T Diplomacy

U Shade trees

V Game that is 16.6% fatal
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W Observing
X Newt

Y Zestful taste
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